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ExANYX ZAMNYE A a R 1XFEHE R A) 2KH(Of| £k M) EXNTC 1K)

Akt HEHS Mg = 2+ 2 189 AZ(EE) T X ZAY Al Pz RS IN S R 16,000 %297 £ *50% 2,376 2,376 2,376 2,376 2,376
a1 220 g3 = AF 1Y 7t Atz 83li7| X[ HAY NVRHEAIY B = 1,600,000 *2LH*50% 1,600 1,600 1,600 1,600 1,600
Akt LAHH [e| = T2 2 2Y St X7 E S0 X AALY LRLEAIHEZ  [40,000,000*3CH*50% 60,000 60,000 60,000 60,000 60,000
40 |2 HE SHoj2] weex O*A] Q] 1Y St X7HAE S0 X AALY UZLREAIR 2R 15,000,000 *2CH*50% 15,000 15,000 15,000 15,000 15,000
Akt HES e = 2y 2l 318Y EMEX) A HAY DAY ER 500:2*706,600kg*50% 176,650 176,650 176,650 176,650 176,650
Akt Mgt = X 2 19 2t X XA NVRHEAIY B = 37,100H & * 14 * 60% 22,260 14,840 22,260 22,260 22,260
ZADE & 150,000 - 150,000 150,000 150,000

YI3HL =~ M2 al E 150,000 &4*141*100% 150,000 - 150,000 150,000 150,000




